CLASS 9

NUMBER SYSTEMS

SURDS AND RADICALS

EXERCISE

V=Y X XY -y
D ay Xy

Simplify and express the results in simplest form :

Simplify the following expressions :

i)  (2/2+5/3)+(2-3/3)

) GB+/3)(2+V2)

(iii)  (B+/5)@—5)

If a=2++/3++/5 and b=3+/3—/5, prove that a2 + b2 - 4a - 6b - 3 = 0.
If X=+/3+2/2 and Y=v3-2/2, evaluate x* + y* + 6x2y2.

If X=1—2, find the value of

(i) x+71< (if) x—%(

1 . 1
(iii) X2 +§2 (iv) X2 v

(v) x4+?1[ (vi) x4—%

7+J/5 7-J5

Ve T VY 3 +7/9, determine the rational numbers a and b.
7-J5 7+J5

For the identity
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Q.7  Simplify the following expressions :

. 1 1 1 1
T I WO N Wy R S

.. 1 1 2 2
(it J?+1+B+2+J5+3+JB—3

Simplify :
® O

3
(iv) (392

Simplify :

0 (% I (ii) Y3432

If ax=b, by = cand c? = a, then prove that xyz = 1. Here a, b, c are positive real

numbers and x, y, z are rational numbers.

ANSWER KEY

(i) 3/2+2/3

(ii) 6+3/2+2/3+/6
(iif) 4

585

(i) -2/2, (i) 2,
(iv) —4/2, (v) 34
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_np1
a=0b=py

() V5L,
(i) 1+v2—/3-J5
() 27, (i) 217 (iii) 125,

(iv) 216, ) %,_, (vi) 1000
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